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13.46 	An L-band pulse radar with a common transmitting and receiving antenna having a 
directive gain of 3500 operates at 1500 MHz and transmits 200 kW. If an object is 120 
km from the radar and its scattering cross section is 8 m2

, find 

(a) The magnitude of the incident electric field intensity of the object 

(b) The magnitude of the scattered electric field intensity at the radar 

(c) The amount of power captured by the o~ject 

(d) The power absorbed by the antenna from the scattered wave 
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